Rk 254E BE Y5

FHHREAETEA R (61)
ST B A PE R 2 BT S 47—

wooE B B BROAT
I. SBREH (8 55 1 05 SRR L fiE)
¥ IR (C) Fe K & (mm) H M B [ (h)
A | A 7 AP 7 A | AR 7
S 22.0 | 21.8 0.2 2.0 | 589 | -56.9| 52.1 | 652 [ -13.1
H ) 25.7 | 227 3.0 119.0 | 54.4 64.6 | 649 [ 53.0 11.9
A 22.8 | 238 -1.0| 745 [ 775 -3.0| 271 [ 39.8 | -12.7

FAETHOMEIZ6/21-6/29DT —Z THEL THET(6/30DT —X X A>THERA),
II. JFELDBLERN

(& e ]
HEEEE:
Rl e 17, /IS B Tt A 6/11,12
F& AR BB K
- ) B AR FR A
it woo» o oz w aa SN Y
A ) 20 0 0 0 0 20 0.0 % ] i3 0.0 0.0
CH W ) 14 0 0 0 0 14 0.0 0.0 0.0
( m™ o) 0 0 0 0 0.0 0.0 0.0
(& v =) 0 0 0 0 0.0 0.0 0.0
(4 i ] 20 0 0 0 0 20 0.0 % % ¥ = O 0.0 0.0
= B A A4 H 20 0 0 0 0 20 0.0 # = B £ 0.0 0.0
ty ey yoh 20 0 0 0 0 20 0.0 M ¥ / Bk (5 ) 0.0 0.0
# b E MR 20 0 0 0 0 20 0.0 3% ] i3 * 0.0
o W R 20 0 0 0 0 20 0.0 % W K K = 0.0
MO M A 20 0 0 0 0 20 0.0 % m #H F = 0.0
EANE T VR 16 4 0 0 0 20 20.0 25Kk AV VE & Lot Bk 5.0
yesnaan’( 17 3 0 0 0 20 15.0 25 Bk 46 Pk & Lo Bk 3.8
{FEvy tE)Y 20 0 0 0 0 20 0.0 25 tk %4 v # ¥ * 0.0
LZV N VY Fay 20 0 0 0 0 20 0.0 # %H K K = 0.0
Faf e T, /MR BTt R : 6/27, 28
F& AR BB K
- ; . B AR FR A
15 o woo» oz w o aa W A
#oown by b 16 4 0 0 0 20 20.0 % 93 Jig 0.4 5.0
(R B ) 11 3 0 0 0 14 21.4 0.4 5.4
( m o) 2 1 0 0 0 33.3 1.0 8.3
(d6 7w &) 3 0 0 0 0 0.0 0.0 0.0
e fili 97 20 0 0 0 0 20 0.0 % W K xR O 0.0 0.0
= B A A H 20 0 0 0 0 20 0.0 # = B O£ ): 0.0 0.0
tyeyyoh 6 14 0 0 0 20 70.0 i %/ Bk (B ) 0.112 17.5
?&;gﬁ;% ‘/g:% 3 5 6 5 1 20 85.0 i % /20 7 Y ( #H ): 11.7 45.0
a7 ) A AH 20 0 0 0 0 20 0.0 # H B K O 0.0 0.0
Wb E MR 20 0 0 0 0 20 0.0 3% ] i3 * 0.0
o W R 20 0 0 0 0 20 0.0 F W K K = 0.0
WoOE O R 20 0 0 0 0 20 0.0 % W B E = 0.0
EANE T VR 13 7 0 0 0 20 35.0 25 KKFAVVE & Lot Bk 8.8
yesaaan’ A 12 8 0 0 0 20 40.0 25 BKRHA T L L o Sk 10.0
{FEvy vE)Y 20 0 0 0 0 20 0.0 25 tk %4 v # ¥ * 0.0
LZV N VY Fay 20 0 0 0 0 20 0.0 # %H K K = 0.0
HERIN R o TEET. MR BT, BT
MO EURET. ARUENT, JERET
db 7 E c R, 2RI




e T, P TR A 6/11,12,14

F& A R E B S K

. - < TR R S
75 5 1 4 A A R
A ) 29 0 0 0 0 29 0.0 % ¥ JE 0.0 0.0
( K o) 4 0 0 0 0 4 0.0 0.0 0.0
(i M o) 2 0 0 0 0 2 0.0 0.0 0.0
(4 F W) 16 0 0 0 0 16 0.0 0.0 0.0
( 7 o) 7 0 0 0 0 7 0.0 0.0 0.0
= B A A4 H 29 0 0 0 0 29 0.0 # & # = 0.0 0.0
R =N 29 0 0 0 0 29 0.0 s ¥ / # ( 5 ) 0.0 0.0
ARIA Y ALY 28 1 0 0 0 29 3.4 B B (25 Bk 0.03 0.9
oAb #E MO 29 0 0 0 0 29 0.0 % ] i3 * 0.0
[ R T N 29 0 0 0 0 29 0.0 % W Kk & = 0.0
EANE T VR 24 5 0 0 0 29 172 25BR#VTEE Lk $ix 4.3
yesnaan’ A 27 2 0 0 0 29 6.9  25BRELTE &L ok 1.7
{AFEVy v EY 29 0 0 0 0 29 0.0 25 Bk M4 v H H o 0.0
VI SR BN 29 0 0 0 0 29 0.0 25 £k 4 v i K o 0.0
TR T, BT T fth A A 6/27,28
AR B B E 5K
- - . R A RREE FE Hex
i % i 4 woo» o oz w o aa N Y

A 31 1 0 0 0 32 3.1 3% 93 Jig 0.1 0.8
( K o) 0 0 0 0 4 0.0 0.0 0.0
(i M ) 2 0 0 0 0 2 0.0 0.0 0.0
(A6 & &) 16 0 0 0 0 16 0.0 0.0 0.0
Q) o) 9 1 0 0 0 10 10.0 0.3 2.5
= B A A4 H 32 0 0 0 0 32 0.0 # & % & 0.0 0.0
N =Ny AN ] 30 2 0 0 0 32 6.3 ¥/ Bk (B ) 0.0 1.6
b E MW 32 0 0 0 0 32 0.0 % 0 x 0.0
s/ N = T 7} 32 0 0 0 0 32 0.0 % W K K = 0.0
EANE T VU H 2210 0 0 0 32 31.3  25KEFA VA & Lot Bk 7.8
vyesinaan’ g 25 7 0 0 0 32 21.9  25HKHA N TE L L S 5.5
LFEVY EEHY 32 0 0 0 0 32 0.0 25 Bk M4 b A % x 0.0

®
i
Iy

=~ = =

ok Db DR TR

k=

R, /MR, BT
PEIRTTNAT, AR T

AR P T BECERT, AREPIT, _ARNT BB T, A AT, R

LB, — i, A LLHET




[ yrerze |

T, BTt A 6/29

F& A R E B S K

i . . F A AR B R S

5 o 4, A A
B M E R 2 13 1 0 0 16 87.5 & i3 8.8 23.4
4 E ¥ N H 8 7 0 1 0 16 50.0 # E # & (%) 1.9 15.6
VA AN 14 1 1 0 0 16 125 #F A& B % @ 4.3 4.7
N X = K 2 8 2 2 2 16 875 &H £ #H E W) 27.4 40.6

(R #f]

R

PEEST . BT, e AR AT : 6/13

= - . R A RR P FE Bk
i 4, woo» o % w o aa N A

5 W 7 1 0 0 0 8 125 # ¥ ¥ FH E 0.0 3.1
" 7 1 0 0 0 8 125 £ £ B K E 0.01 3.1

7/ NS S B 8 0 0 0 0 8 0.0 & I ¥ K E 0.00 0.0
Y)xNAN T hY 7 0 1 0 0 8 125 ¥ o %k F Ak R 0.9 6.3
IH N HE = 7 1 0 0 0 8 125 & ¥ H £ % 1.3 3.1
VA AN NI 6 1 1 0 0 8 25.0 % £ B M R x 9.4
NV IV AN 3 5 0 0 0 8 62.5 % E O R x 15.6
e H TR 8 0 0 0 0 8 0.0 % A& h o= 0.0

[ =255 |
FEIES T BEHIAT BRI PN AT A LRI : 6/13
F& AR BB K
- ; . B AR FR A
e = & [ AAEHEBE KO
g N PaE:

S /S 51 8 0 0 0 0 8 0.0 # ¥ % K & 0.0 0.0
" 8 0 0 0 0 8 0.0 H E ¥ B O 0.0 0.0

7/ NS A S B 3 5 0 0 0 8 62.5 & W ¥ F E 0.07 15.6
Y)xhAh" 7 hy 8 0 0 0 0 8 0.0 ¥ o m %A E: 0.0 0.0
I K = 6 0 1 0 1 8 25.0 & E H A& F 16.4 18.8
VAR AN NEZE | 6 2 0 0 0 8 250 HF L B OM O£ = 6.3
Ay AES YRS 7 1 0 0 0 8 125 % A& ¥R x 3.1
' ATTHIRY 8 0 0 0 0 8 0.0 % & h ¥ = 0.0

| +
P T, RRETERA: 6/12
F& AR BB KR
- ; . P& AR FR A
e = 7 A [ AAEHEBE KO
g > ANZ

= 2 ] 8 0 0 0 0 8 0.0 % J&5 W H () 0.0 0.0
" 7 1 0 0 0 8 125 % W O£ K O 0.1 3.1
NOF = 6 2 0 0 0 8 25.0 w4 ¥ R (O 0.6 6.3
VA AN | 5 2 1 0 0 8 375 % OB R R ) 2.3 12.5




AT, DBERT, AL LRI 6/12,14

- ; . B AR FR A
e = & [ HAEHE KO
g > PaE:
I74 e ] 0 0 0 0 6 0.0 # R ¥ K O ) 0.0 0.0
5 A Z W 2 4 0 0 0 6 66.7 K R () 1.4 16.7
A 7 H 0 0 0 0 6 0.0 # % o R x 0.0
AT, OBEWT, AL URTIEA : 6/27,28
F& AR BB K
- ) . B AR B FR A
e = & [ HAEHE KO
g > PaE
58 A Z W 0 5 1 0 0 6 100.0 % % ZE R ) 4.2 29.2
hE)~NELY N 6 0 0 0 0 6 0.0 # #H H£ K x 0.0
TV AT HAR T Y 3 2 1 0 0 6 50.0 #HF A& B R = 16.7
Fx/)¥An7H Iv~ 5 1 0 0 0 6 167 # F FE F x 4.2
XA T I~ 6 0 0 0 0 6 0.0 # FE ¥ £ x 0.0
n 6 0 0 0 0 6 0.0 # E B R x 0.0
A 7 H 4 2 0 0 0 6 333 #F EOE R o« 8.3
(B *¥]
Hikr A |
Rl i, L A : 6/25,26,28
AR RR NI 5 4K
i - . AL TR R ok
e = A [ AAEEE &V
i > A=
e oo Z R AT gk %8 1 0 4
5 AW 8 0 0 0 0 8 0.0 ¥ W\ E L % : 0.0 0.0
w o E Ol R 8 0 0 0 0 8 0.0 ¥ W £ R W : 0.0 0.0
VA AN | 7 0 1 0 0 8 12.5 % & # F R O - 4.5 6.3
INAE L HRY 8 0 0 0 0 8 0.0 # & Bz : 0.0 0.0
" 8 0 0 0 0 8 0.0 # F £ R W : 0.0 0.0
N = M 4 3 0 1 0 8 50.0 % Ak E R W) 9.1 18.8
IFIFAuTH IV 5 2 1 0 0 8 375 % Ak E R W 4.3 12.5
" 8 0 0 0 0 8 0.0 # F £ R W : 0.0 0.0
S VA VAR A V) 8 0 0 0 0 8 0.0 F W K F = 0.0
1) BAERRERHHILL TORIIRD TS,
“ ( X1 + H X2+ £ Xx3+HHX4)
FEAFRE R = — X100
Fefkhi A ES R X 4
N A |
FEES T, T AN AT RS 6/28
AR R B 5 %K
Fe .
B AR RS
e = A B WMAEA KO
iR A B3 %4 h % # At %k O 1
2] BE ] 0 7 0 0 0 7 100.0 & 7 i3 : 4.0 25.0
N A E YV I LY 6 1 0 0 0 7 14.3 FHOAE E R W 0.4 3.6
J& il ] 7 0 0 0 0 7 0.0 W O OE ok 0.0
VAR NI | 2 5 0 0 0 7 71.4 x4 #EOR  x 17.9




